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1 | XERK 6 2 2 1 3 5 1
2 |HRERX 6 2 2 2 4 6 0
3 [ITHERX 3 1 1 2 2 1
4 |BERK 8 2 1 3 2 6 8 0
5 |2EBERX 7 1 3 3 6 7 0
6 [dtX 7 1 6 7 7 0
7 [FIX 3 1 2 3 3 0
8 IFIEX 5 1 4 5 5 0
9 |BfmX 5 3 2 2 5 0
10 |[RiIX 4 1 1 2 2 2
11 [ FEX 3 2 2 2 1
12 | KHEEKX 14 3 2 8 10 13 1
13 [&IJIIX 1 1 1 1 0
14 |FEH 4 4 4 4 0
15 [JI&H 14 3 1 10 11 14 0
16 |#EmH 11 2 2 6 10 10 1
17 |BHE 1 1 0 1 0
18 |ZEE 38 2 2| 5(1) 22 29 31 7
19 =88 1 1 0 1 0
20 BH 3 3 3 3 0
21 | KBrh 48 8 1 6 31 38 46 2
22 |Rh 7 1 6 6 7 0
23 |[Z2dih 3 1 2 2 3 0
24 |sFOTH 1 0 0 1 0 1 1 0
25 |[J\ETh 11 2 3 6 9 11 0
26 |HKBRM 5 1 4 5 5 0
27 |[fFE™ 5 1 4 5 5 0
28 |[EIGth 35 7 4 24 28 35 0
29 |B®mh 5 1 3 4 4 1
30 [dtAimTh 29 4 2 2 21 25 29 0
31 | KEHT 50 24 2 5 18 25 49 1
= it 343 67 19 40 199 258 325 18
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hRE 66 15 1 11 30 42 57 9
[EXRIEHDOESGEY 17 0 2 1 12 15 15 2
B A fmhm 9 2 0 2 2 4 6 3
E | VEAMMERE 12 2 1 0 2 3 5 7
ZDih 2 0 0 0 2 2 2 0
INET 106 19 4 14 48 66 85 21
hEHE 38 2 2 3 29 34 36 2
BAIE | REXRHOBLE N 31 0 1 1| 28(2) 30 30 1
L B fafh 10 1 i 1] 2(1) 4 5 5
wpze | UFAMBEREE 3 0 1 0 1 2 2 1
et ZDih 2 0 0 0 2 2 2 0
INET 84 3 5 5 62 72 75 9
&5t 190 22 9 19] 110 138 160 30




